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Transitive Groups of Degree 7

No|Group |Order|DimCA|CAZ|DimGA|GrAZ Cycle_Index
_ 1 7 .6
1|c7=7| 7 7 | T 7 T Zx{ +2x7
D7 = 1 7 1 3
2 2.5 14 4 T 13 F ﬁxl +§X]_X2 +7X7
F_217 1 .7 2 2 .2
3 _ 73 21 3 T 19 F 5TX] t3X1X3 +5X7
1 7 .1 3,1 2 .1
S5 X1 t=X1X5 +5X]1X5 +5X]
4F_-47_26742 2 | 17| 37 F421621333
- X6+7X7
L7 = ﬁ){l? +%Xio’X22 +%X1X2X4 +
5 132 168 2 T 37 F 1 5 3
) §X1X3+7X7
1 7 1 4 1 3.2
2520 X1 ¥36 13t 22 X1%2 *
6| A7 [2520] 2 | T | 37 | F |Ex2xs+dixyxoxa +Lx1x2+
51 X5 4 1X2X4 9 143
1 2 2
12 2X3+ X7
1 7 1 5 1 4
5040X1 +mX1X2 +ﬁX1X3
1 3.2 1 3 1 2
+4—8X1 2+ﬂX1X4+12 1 2
1 3 1 2 1
X3 + -5 X1X5 + =5 X7X5 + S5 X
71 s7 |so040] 2 | 1| 37 | F |37 a8 12710717578
1 2 1 2 1
X2X4+ﬁx]_x3 24 2X3+6
1 1
X1X6 t+ 719 X2X5 +75X3X4 + 35
X7
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